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SECTION A (25 marks)

Question 1 to 5 carry 1 mark each. Question 6 to 15 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make
your choice (1, 2, 3 or 4). Shade your answer (1, 2, 3 or 4) on the OAS provided.

1. In 97 518, the digit  is in the thousands place.

(1) 1

2 5

3) 7

@) 9 ()

2. Round off 5495 to the nearest hundred.

(1) 5000
(2) 5400
3) 5500
(4) 6000 ( )

3. Madam Hasni makes 327 curry puffs every day. How many curry
puffs will she make in 8 days?

(1) 2416

(2) 2602

(3) 2616

(4) 3416 ¢ )
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4. Muitiply 379 by 7 tens. The answer is

(1) 2553
(2) 2653
(3) 25530
(4) 26530

5. Express 3 m 2 cm in centimetres.

(1) 32cm
(2) 302 cm
(3) 3002 cm
(4) 3020 cm

6. The perimeter of rectangle A is 7 times its breadth.

If the perimeter of rectangle A is 28 cm, find its length.

rectangle A

(1) 20cm
(2) 10 cm
() 7 cm
(4) 4 cm
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7. Express 4050 g in kilograms and grams.

(1) 4kgdg

(2) 4kg50g
(3) 40kgb5g
(4) 40kg50g

Which of the following figures have more than 1 pair of paraliel lines?

1NO

figure A figure B - figure C figure D

(1) A and B only
(2) A and C only
(3) A, Band C only
(4) B, C and D only

9. Fill in the box with a suitable number.

1 [

3— = —
8 8

(1) 24
(2) 25
3) 31
(4) 32
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10.

11.

12.

2

3
Find the value of 45 - 1—5‘.

[
9
M 7o

9
92

1
33—
G °1o

9
32
ST

Sue had 250 stickers at first.

Her mother gave her another 178 stickers.

How many more stickers would Sue need in order to fill up her
sticker album with 1000 stickers?

(1) 428
(2) 572
(3) 750
(4) 822

Which of the following are common factors of 36 and 45?

(1) 3and 6
(2) 3and 9
(3) 5and 6
(4) 6and 9
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13.

14.

15.

What is the first common muitiple of 6 and 87

(1) 12
(2) 16
(3). 24
(4) 48

Fish burger : Chicken burger

$ 6 each $ 4 each

The table above shows the prices of two different burgers at a

restaurant.
Mr Tan bought 45 fish burgers and some chicken burgers.
He paid a total of $454 for all the burgers he bought.

How many chicken burgers did Mr Tan buy?
(1) 41
(2) 46
(3) 66
(4) 71

Jenny had 4 red beads and 8 purple beads at first.
She bought another 4 red beads.

What fraction of her beads was red in the end?

(M

(2)

)

4

Sl WIN W N -
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SECTION B (40 marks)

Question 16 to 35 carry 2 marks each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. All diagrams are not drawn to scale.
Marks will be awarded for relevant working.

16. How many 50-cent coins make up $ 8.507

Ans;

17. Find the value of 907 x 57.

Ans:

18. Area of square X is the same as the area of rectangle Y.

Find the length of rectangle Y if its breadth is 4cm.

4+ 1 6cm
} J 4 cm
1

square X rectangie Y

4

Ans: cm
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19. Draw a line parallel to the given line, AB,through the point X.

T - B

F"
I
|

%
1A |

20. In the figure below, a rectangular piece of paper is folded at two of its
corners A-and-B as shown below.

How many right angles can you see in the figure?

Ans:
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21. Madam Theresa is standing at the point marked X in the figure below. She is
facing Tekka Mall. What wiil she face when she turns 135° anti-clockwise?

Henry Park Jurong
Primary School Polyclinic Marina
Wet Market
Raffles Girls’ X {on Orchard
Primary School

Botanical Garden Tekka Mall

Clementi
Fire station
Ans:

22. Arrange the following in ascending order.

1}_, 13) 11’ 12
2 4 3 6

Ans:

23. sy
Mei Li had $28. She spent ; of the money on toys and saved the rest.

How much did she save?

Ans: §
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24. Siti used all the digits below to form two different 2-digit numbers which have
the biggest possible difference. What is the difference?

o) (2] L2) 17

—

- 1|

Ans:

25. The value of 5 ten thousands, 9 tens and 2 ones is

Ans:

26. Jennifer bought some sweets for her friends on her birthday. She packed all
the sweets she had into 193 packets and had 8 sweets left.

If each packet contained 12 sweets, how many sweets did she buy?
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27. Find the perimeter of the figure below.

10 cm

12 ¢m

Ans; cm

28. The diagram below is made up of three squares A, B and C. The area of
square B is four times the area of square A.

Find the length of square C.

I 2cm

3cm A B c

Ans: cm
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29. Which dot A, B or C, when joins to point G, could form a line perpendicular
to line XY?
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30. Study the pattemn below. Matchsticks are used to form each pattern.

N A A

pattern 1 paitern 2 patiern 3 pattem

Find out the number of matchsticks needed to form pattern 5 .

Pattern 1 2 3 4 5

Number of 3 9 18 30 ?
sticks used T

Ans:

Page 11 of 21



Express % as a mixed number in the simplest form.

Ans:
32. 5 1
Find the value of 5 — g — 1 5: Leave your answer in the simplest form.
Ans:
33. Study the pattern below and fill in the blank.
1,2,5,10, __ _, 26, 37,50
Ans;
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34. There were 600 people in an auditorium.

g— of them were adults and the rest were children.

-Z— of the adults were men. How many women were the(ewat the auditorium?

Ans:

35. If —i— of a number is 30, what is the humber?

Ans:
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SECTION C {35 marks)

For question 36 to 44, show your working clearly in the space provided below
each question and write your answer with suitable .units in the spaces
provided. All diagrams are not drawn to scale. Answers in fractions must be
expressed in the simplest form. Marks will be awarded for relevant working.
The number of marks available is shown in brackets [ ] at the end of each
question or part-question.

36. John and Mary had 372 sweets altogether. After Mary had given 42 sweets to
John, John had 3 times as many sweets as Mary. How many sweets did Mary

have at 'ﬂrst?

Ans: ' [3]
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37. Rick and Peter each save an equal sum of money each day.
Rick can save $ 24 in 4 days.
Peter can save $ 48 in 6 days.

(a) How much more does Peter save than Rick in 1 day?
(b) How many days will it take Peter to save $100 more than Rick when they

both start saving on the same day?

Ans: (a) (2]
oy 2
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38. Forevery 4 beads that Minah has, Mary has 2 more beads than her.
They have 60 beads altogether. How many beads does Mary have?

Ans: . [3]
39. Mrs Tay bought a 10-kg cake.
She ate % of it and gave 3%kg to her friend.
How much cake had she left?
Answer: _ [3]
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40. The figure below is made up of a square and 3 identical rectangles.

A

25 cm

(a) Find the perimeter of the figure.

(b) Find the area of the shaded rectangle.

Ans: (a) (31

) [1]
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41.

Alice bought 2 kg 50 g of meat.

Bernice bought 30 g of meat less than Alice, and Candice bought 5§50 g of
meat more than Bernice.

How much meat did the 3 girs buy altogether?

Ans: [4]

Page 18 of 21



42. Joan and Marie bought some candies from The Candy Empire.
Joan bought 125 candies from the shop while Marie bought three times as

many candies as Joan.
(a) How many candies did Marie buy?

(b) How many candies must Marie give to Joan so that Joan had 50 candies
less than her?

Ans: (a) [1]

(b) (3]
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43.

Mary went shopping with some money.
She spent % of the money on a toaster. She also bought a skirt for § 76.

After that she went to a CD shop and bought 5 CDs at $19 each.
She then had $15 left.
How much did she have at first?

Ans:
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44, The diagram below shows a rectangie PRSU, which is made up of square
PQTU and rectangle QRST.
Figure D, E and F are squares and the area of square F is Tm?.

The area of square D is %of the shaded area in rectangle QRST and QA = AT

as shown in the figure below.

P Q R
wzsenerdobzansdenaottivany
it Y g
T £ £ £
2 s
ﬁ:::::::v - 4 3 H %\
= A \
s i H *
T 3 3m s N
------ & v EHE D\
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2 e = mr=r HH
BAEREE 3 :
im B F SHIHE L"f; 5 15N
RaesuTTEP AT A 9% s |
U T S

(a) Find the area of square E.

(b) Find the total area of the unshaded parts in rectangular field PRSU.

Ans: (a) _ [1]

(b) [4]

-End of Paper-
Please check your work carefully ©

Setters: Miss Wai Sook Har
Mr. Darren Lau
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EXAM PAPER 2011

SCHOOL : RAFFLES GIRLS’
SUBJECT : PRIMARY 4 MATHEAMATICS

TERM : SA1

Q110203 {Q4Q5{Q6 Q7|08 | Q% |Q10/Q11]|Q12{Q13[Q14|Q15

3 3 3 4 2 2 2 2 2 2 2 2 3 2 1

16)17 17)51699 18)9cm 19)

20)4 21)Jurong Polyclinic 7
22)11/3, 12, 134, 1s/6 23)$12

24)53 25)50092  26)2324

27)44cm 28)4cm 29)8 30)45 A
31)52/3 32)27/8 33)17

34)4/5 x 600 = 480
1-3/8=5/8
5/8 x 480 = 300

. 35)30=3 = 10
5x10 =50

36)372+-4 =93
93 +42 =135
Mary had 135 sweets at first.

37)a)48+- 6 =8
244 =6
8—-6=2
Peter saves $2 more than Rick in 1 day.
b)100 -2 =50
It takes Peter 50 days to save $100 than Rick when they both start saving from the
same day.



38)4+2=6
6+4=10
60-10=6
6x6 =236

Mary have 36 beads.

39)1/5x10=2
10—-2-3Y2=4V2
She had 412kg of cake left.

40)a)25 - 5=5
14x5=70
The perimeter of the figure is 70cm.
b)10 x 5 = 50cm2
The area of the shaded rectangle is 50cm2

41)2050 — 30 = 2020
2020 + 550 = 2570
2570 + 2020 +2050 = 6640
The 3 girls bought 6kg 640g of meat altogether.

42)a)125 x 3 = 375
Marie bought 375 candies.
b)375 - 100 = 275
125 + 100 = 225
275 —225 =50
Marie must give Joan 100candies.

43)5x19 =95
76 + 95 =171
171 + 15 =186
186+ 3 = 62
186 + 62 = 248
She had $248 at first.

44)a)3x3 =9
The area of square E is 9m2
b} x4 = 16
16-2=8
8x3 =24
48-8=6
14 x8 =112
9+16+24 =49
112-49 =63
The total area of the unshaded parts is 63m2





